


SSC CGL EXAM 

2021 & 2022 

PREVIOUS YEAR 

QUESTIONS



1. Select the correct indirect form of the

given sentence.

She said, “I am in no mood to work now.”

1. She said that she has been in no mood

to work then.

2. She said that she was in no mood to

work now.

3. She said that she was in no mood to

work then.

4. She said that she has been in no mood

to work now.

(c) has the skills

3. She said that she was in no 

mood to work then. 



2. Select the correct passive form of the

given sentence.

Manu will tell her later.

1. She will be tell later by Manu.

2. She will tell later by Manu.

3. She will be told later by Manu.

4. She will be tell her later.
(SSC CGL 2022)

(c) has the skills
3. She will be told later by 

Manu. 



3. Select the most appropriate ANTONYM of

the given word.

Seize

1. Snatch

2. Catch

3. Loosen

4. Grab
(SSC CGL 2021)

(c) has the skills

3. Loosen



4. Select the INCORRECTLY spelt word.

1. Creature

2. Specified

3. Decrease

4. Pieceful
(SSC CGL 2021)

(c) has the skills

4. Peaceful



5. Select the most appropriate

ANTONYM of the given word.

Gradual

1. Slow

2. Regular

3. Gentle

4. Abrupt
(SSC CGL 2021)

(c) has the skills
4. Abrupt



6. Select the most appropriate

synonym of the given word.

Generic

1. Definite

2. Universal

3. Precise

4. Specific
(SSC CGL 2021)

(c) has the skills
2. Universal



7. Select the most appropriate

meaning of the given idiom.

Raise the bar

1. To raise the price

2. To grow taller

3. To set higher goals

4. To win a competition
(SSC CGL 2021)

(c) has the skills
3. To set higher goals



8. The following sentence has been split

into four segments. Identify the segment

that contains a grammatical error.

Had you / not reached in time, / we will

have / lost our lives.

1. not reached in time

2. Had you

3. we will have

4. lost our lives
(SSC CGL 2021)(c) has the skills3. Replace will with 

would



9. Select the most appropriate meaning of

the given idiom.

Bang for the buck

1. More value for money

2. Less value for money

3. Dash against something

4. A sorrowful heart
(SSC CGL 2021)

(c) has the skills1. More value for money



10. “Everything is going to be alright,” said

the doctor.

1. The doctor said that everything will be

alright.

2. The doctor said that everything was

going to be alright.

3. The doctor said that everything is going

to be alright.

4. The doctor said that everything are

going to be alright.
(SSC CGL 2021)

(c) has the skills
2. The doctor said that 

everything was going 

to be alright.



11. India is formally moving ahead to

______ 21 MIG-29 and 12 Sukhoi-30MKI

fighters from Russia along with

upgrades of their existing fleets.

1. procure

2. achieve

3. accomplish

4. Advance
(SSC CGL 2021)(c) has the skills1. procure



12. Work and domestic ______ made

Kajal short-tempered.

1. gravities

2. weights

3. forces

4. Pressures
(SSC CGL 2021)

(c) has the skills4. pressures



13. A herd or flock of animals being

driven in a body

1. Drove

2. Cluster

3. Throng

4. Crowd
(SSC CGL 2021)

(c) has the skills1. Drove



14. Select the INCORRECTLY spelt

word.

1. Exterminated

2. Voilence

3. Wildernesses

4. Unmanageable
(SSC CGL 2021)

(c) has the skills2. Violence



15. “Can you give me so many

examples of subordinate clauses?”, the

teacher asked the class.

1. some more examples of

2. No substitution required

3. some few examples of

4. some many examples of
(SSC CGL 2021)

(c) has the skills1. some more examples 

of



16. Select the INCORRECTLY spelt

word.

1. Terrorism

2. Alottment

3. Borrow

4. Allowance
(SSC CGL 2021)

(c) has the skills2. Allotment



17. Select the most appropriate meaning

of the following idiom.

To walk on air

1. To feel very depressed

2. To be very happy

3. To be very rich

4. To be completely free
(SSC CGL 2021)

2. To be very happy



18. Select the most appropriate meaning

of the following idiom.

To take a chill pill

1. To ask a doctor for medication

2. To calm down

3. To drink cold water

4. To gulp a tablet for a cold
(SSC CGL 2021)

(c) has the skills
2. To calm down



19. Select the most appropriate

synonym of the given word.

Prompt

1. Slow

2. Lengthy

3. Quick

4. Gradual
(SSC CGL 2021)

(c) has the skills
3. Quick



20. Select the INCORRECTLY spelt

word.

1. Sincere

2. Grievance

3. Liesure

4. Seize
(SSC CGL 2021)

(c) has the skills3. Leisure



21. Help from relatives ______ him in

difficult times.

1. supported

2. passed

3. approved

4. Allowed
(SSC CGL 2021)

(c) has the skills1. supported



22. Select the most appropriate

ANTONYM of the given word.

Putrefy

1. Destroy

2. Contaminate

3. Combine

4. Decompose
(SSC CGL 2021)

(c) has the skills
3. Combine



23. Select the option that expresses

the given sentence in passive voice.

The sunrays burned my face.

1. My face is burned by the sunrays.

2. My face is being burned by the

sunrays.

3. My face has been burned by the

sunrays.

4. My face was burned by the sunrays.
(SSC CGL 2021)4. My face was burned by 

the sunrays.



24. Select the most appropriate

synonym of the given word.

Dedicated

1. Tedious

2. Committed

3. Dreary

4. Boring
(SSC CGL 2021)

2. Committed



25. Select the most appropriate

ANTONYM of the given word.

Hope

1. Chance

2. Courage

3. Optimism

4. Doubt
(SSC CGL 2021)

4. Doubt



26. A self-governing country or region

1. Autonomy

2. Democracy

3. Anarchy

4. Monarchy
(SSC CGL 2021)

1. Autonomy



27. A place where coins, medals or

tokens are made

1. Workshop

2. Casting

3. Mill

4. Mint
(SSC CGL 2021)

4. Mint



28. Fierce competition against

restaurants has driven up the

prices.

1. No improvement required

2. among

3. along

4. Through
(SSC CGL 2021)

2. among



29. Select the most appropriate

meaning of the given idiom.

Want to curl up and die

1. Too tired from physical labour

2. Want to die comfortably

3. Unable to sleep well

4. Feel terribly ashamed and sorry
(SSC CGL 2021)

4. Feel terribly ashamed and 

sorry



30. The advanced nations face no

population problem since they were

already settling down to zero growth

______ in population.

1. degree

2. scale

3. rate

4. Frequency
(SSC CGL 2021)

3. rate



31. Many of the apples was rotten.

1. is rotten

2. No substitution

3. were rotten

4. was being rotten
(SSC CGL 2021)

3. were rotten



32. Although the children studied hard,

but they could not understand the topic

without the help of the teacher.

1. Although the children had study hard,

but they

2. Although the children studied hard, they

3. No substitution

4. Although the children have studied

hard, but they
(SSC CGL 2021)

2. Although the children studied 

hard, they



33. One who does not take any

alcoholic drink

1. Astrologer

2. Perfectionist

3. Vegetarian

4. Teetotaler
(SSC CGL 2021)

4. Teetotaler



34. Select the most appropriate

ANTONYM of the given word.

Widespread

1. General

2. Limited

3. Overall

4. Famous
(SSC CGL 2021)

2. Limited



35. Select the most appropriate

meaning of the given idiom.

Be at a loss for words

1. Not know what to say

2. Not aware of the language

3. Habituated to using difficult words

4. Lost the urge to speak
(SSC CGL 2021)

1. Not know what to say



36. Select the option that expresses

the given sentence in passive voice.

Close all the windows.

1. Will you close all the windows?

2. Can you close all the windows?

3. All the windows be closed.

4. Let all the windows be closed.
(SSC CGL 2021)

4. Let all the windows be closed.



SSC CGL MOST 

EXPECTED 

QUESTIONS FOR 

UPCOMING EXAM



ERROR 
DETECTION



1. (1) The power supplying in / (2)

Many states has been badly

affected because / (3) of the

shortage of coal. / (4) No error

(1) Replace 'supplying' 

with 'supply'.



2. (1) The government has many /

(2) new schemes for people / (3)

who want to start businesses in

rural areas. / (4) No error

(3) Use 'business' in place of 

'businesses'.



3. (1) The rate of interest / (2)

offered by banks to customers

who / (3) has savings bank

accounts was decided by RBI

early. / (4) No error

(3)Replace 'has' by 'had'.



4. (1) According to newspaper

reports / (2) there is more

internet users / (3) in small

towns than in metros. / (4) No

error

(2)Replace 'is' by 'are'.



5). The majority of the computer

professionals (1)/ recommends that

effective measures (2)/ should be

taken against software piracy. (3) /

No error (4)

2) As we are referring to a 'majority',

implying 'many', 'recommend' is the

right word to be used.



6) The recent study has (1)/

indicated that there is a

perceptible (2)/ change in the

attitude of the people. (3)/ No

error (4)

1)The reference is to one of the recent studies, not a

particular one. So the definite article 'the' should

not be used at the beginning. As there is no clear

reference to a specific study, it is preferable to use

the indefinite article 'A' instead of the definite article

'The'.



7) By all standards, he is a best

soldier (1)/ our military school (2)/

has produced so far. (3)/ No error

(4)

(1) Where the superlative is used, 

'the' is the article that must precede 

it.



8) One of the most (1)/ widely

spread bad habit (2)/ is the use

of tobacco. (3)/ No error (4)

2) The reference is to a plural noun, as 'one of the‘

implies. 'Bad habits' should be used as the sentence

refers to 'one' of the most widely spread bad habits.



9) Had I come (1)/ to know

about his difficulties, (2)/ I

would have certainly helped

him. (3)/ No error (4)

(4); No error.



10) I will put on a note in this

regard (1)/ for your

consideration (2)/ and

necessary decision. (3)/ No

error (4)

(1) ; The phrase 'put on' means 'wear' or

'apply'. It should be 'put in' here; 'put in'

means 'submit' a request, claim.



11) The detective says that

(1)/ there is no chance for

(2) / finding the person who

wrote these letters. (3)/ No

error (4)

(2); 'Of' is the correct preposition; 

it should replace 'for'.



12) Rekha was trying for admission

(1)/ in the Engineering College

even though her (2)/ parents

wanted her to take up medicine.

(3)/ No error (4)

2) Replace 'in' with 

'to'.



13) He fixed a metal ladder (1)/ for

the wall below his window (2)/ so

as to be able to escape if there

was a fire. (3)/ No error (4)

2)A ladder is-fixed 'to' the wall, not 'for' 

it. 



14) Several prominent figures (1)/

involved in the scandal are

required to appear (2)/ to the

investigation committee. (3)/ No

error (4)

3)One appears 'before' an investigation 

committee, not 'to' it.



15) He grow up the way (1)/ many

young children grow up (2)/

pampered, adored and inwardly

tortured. (3) / No error (4)

1)A past tense should be used in the

first part of the sentence to

maintain the correct tense form.



PHRASE 

REPLACEMENT



Q16. You are what you have eaten.

1) will eat

2) eat

3) shall eat

4) no improvement

Solution : 2, eat

Explanation – To express the general

truth or fact we use simple present

tense.

Example – The sun rises in the east.



Q17. My patients were waited for me

since morning.

1) wait

2) had been waited

3) have been waiting

4) no improvement

Solution : 3, have been waiting



Q18. Take off your shoes

before you enter the temple.

1) Put away

2) Extract

3) Put off

4) No improvement

Solution : 4, No improvement



Q19. No one other reason

than poverty is hampering

India’s progress.

1) No other

2) None other

3) No another

4) No improvement

Solution : 1, No other

‘No other reason’ is the correct

usage.



Q20. The custom has took root in

the society.

1) taken root

2) take root

3) takes root

4) No improvement

Solution : 1, taken root



Q21. We will take care of your

children when you are away at

Mumbai.

1) be looking for

2) look after

3) take care after

4) No improvement
Solution : 2, look after

Phrasal verbs ‘look after’ and ‘take

care’ have the same meaning but for

children the best option is ‘look after’.



Q22. The trade union is hell bent

at getting its demands fulfilled.

1) hell bent in

2) hell bent about

3) hell bent on

4) No improvement

Solution : 3, hell bent on

‘Be hell-bent on something’ – to be

extremely determined to do something,

without considering the risks.

Replace preposition ‘at’ with ‘on’



Q23. The police had to break the

door to get in.

1) to break up

2) to break in

3) to break down

4) No improvement
Solution : 3, to break down

Break down – to destroy a physical

structure.

Example – I’ll break this door down if

shivam does not come out here right

now.



Q24. The plane landed and shot

towards the airport.

1) Taxied

2) Drove

3) Wheeled

4) No improvement

Solution : 1, taxied

The verb taxi means-

(Of an aircraft) to move slowly on

the ground.



Q25. After a hard days work, I just

want to go home.

1) hard day’s work

2) hard days’ work

3) hard day work

4) No improvement

Solution : 1, hard day’s work

Write day (singular form) as the

Indefinite article ‘a’ is used for

singular and also the apostrophe

‘s’ to make the sentence

meaningful.



26. We need honest workers, not 
people of redoubtable integrity.

1. doubting 

2. doubtful

3. doubtless

4. No 

improvemen

t Ans-

2



27. I cannot listen what Prakash is 

saying.
1. hear what 

2. listen to what

3. listen for 

what 

4. No 

improvement Ans-3



28. Many people find it 

difficult to make both 
hands meet.

1. both accounts 

2. both hand to 

mouth 

3. both ends meet 

4. No improvement 

Ans-3



29. We are sorry to hear regarding your 

father's death.

1. of

2. over

3. For

4. No 

Improvement
Ans-4





31) Look at this video clip in which

I, my friend and you are enjoying a

boat ride.

1) you, my friend and I

2) I, you and my friend

3) my friend, you and I

4) no improvement
Solution : 1, you, my friend and I

Explanation – The order ‘231’ should be

followed for the good sense and for the

bad sense the order should be – ‘123’



32) Any bad habit must be nipped on

the bud.

1) on

2) in

3) off

4) no improvement

Solution : 2, in

Explanation – ‘Nip in the bud’ – to stop,

cease, or prevent something at the

beginning.



33) The patient died of a wound and

not of cancer.

1) from a wound and not of

2) of a wound and not from

3) from a wound and not from

4) no improvement

Solution : 1, from a wound and not of

Explanation – ‘die from’ – death caused by

external factors.(earthquake, disaster, wound,

etc.) ‘die of ‘ – death caused by internal factors

(disease, illness, etc.)



34) When I last saw Ravi, he had

been running to catch his bus.

1) ran

2) was running

3) had run

4) no improvement

Solution : 2, was running

Explanation – The past continuous merely

shows continuity whereas past perfect

continuous tense puts an emphasis on the idea

of duration.



35) I would love to availing a short

holiday, and go for an overnight trek.

1) to avail myself of

2) to avail of

3) to avail myself

4) no improvement

Solution : 3, to avail myself

Explanation –The verb ‘avail’ is used reflexively.

Example – I would like to avail myself of the

opportunity. ✔️



36) She has not been well for the

past few months

1) since the past

2) for past

3) since the last

4) no improvement

Solution : 4, no improvement

Explanation – ‘the past few months’

indicate the period of time and we

use ‘for’ for period of time and

‘since’ for point of time.



37) It has been a long ago I last saw

you.

1) time

2) since

3) before

4) no improvement

Solution : 2, since

Explanation – ‘Since’ as a conjunction means

‘starting at a particular point in the past and

continuing until now’



38) I Cannot help but had to cry at

his sad story.

1) cry

2) cried

3) was crying

4) no improvement

Solution : 1, cry

Explanation – ‘Cannot help but’ means to be unable to

do anything else except…

“Cannot help but” should be followed by main verb ‘cry’



39) If I have had money, I would have

bought this car.

1) had

2) did have

3) had had

4) no improvement

Solution : 3, had had

Explanation –It is a third

conditional sentence.



40) As soon as I saw the ferocious dog

than I ran away.

1) No sooner than I saw

2) No sooner has I seen

3) No sooner did I see

4) no improvement

Solution : 3, No sooner did I see

Explanation – sentence is based

on the structure – “no sooner

……than” .



SSC CGL MOST 

EXPECTED 

QUESTIONS FOR 

UPCOMING EXAM 

PART II



QUESTIONS BASED ON 
FILLERS



(1) God is…….. 

(a) immanent

(b) mortal

(c) imminent

(d) Deference

Ans- (a)immanent



(2) Riya……. her 

matriculation 

examination in 2016.

(a) Completed

(b) passed

(c) obtained

(d) Gathered

Ans- (b) passed



(3) ………..the rain stopped, the 

concert had to be suspended.

(a)    Until

(b)    Unless

(c) Till

(d) While

Ans-(a) Until



4. Keith has ……….. with a 

failure in English examination 

thrice.

(a) caught

(b) Gone

(c) got

(d) Met

Ans (d) Met



5. My sister unlike my 

brothers……..to have a career 

in Engineering.

(a) Wants

(b) Want

(c) Wish

(d) aspire

Ans- (a)Wants



ERROR DETECTION(Q6 TO Q10)



6. Each boy was given (A)/ a toy as a 

parting gift,(B)/ which made them 

happy.(C)/ No error(D)

(c) replace them with him



7. Their luggages which were (A)/ kept at 

the station's (B)/ restroom lockers, were 

later retrieved. (C)/No error

Answer: A)

Explanation: luggage is an

uncountable noun, the

correct sentence should be

“luggage which was”



8. That summer, elections were (A)/ held at

many a place (B)/ without any untoward

incident.(C)/ No error (D)

Answer: b)

Explanation: (b); In place of 'at'

use 'in'.

‘at’ is preferred when one wants to

convey the precise (specific)

location of an entity , while 'in' is

used in a more obscure sense.



9. I was taken by surprise (A)/ when I 

came (B)/ face to face with my 

school friend.(C)/ No error(D)

Answer:(d); No error



10. The factory complex has a

shop-floor (A)/ and 10 cubicles

for the staff in an area (B)/ of

about thousand squares meters

(C)/ No error(D)
Answer: c)

Explanation: (c); It should be "square

meters" instead of "squares meters".

"thousand" will modify "meters" not

the "square" as square is also acting

as an adjective and adjectives are not

written in plural.



PHRASE REPLACEMENT (Q11 TO Q15)



11. She did not like to have 

coffee (nor I did).

(a) neither I liked it 

(b) nor did I

(c) nor I like it 

(d) No improvement
Answer: (2)

(b); "nor did I" is the 

appropriate use as inversion 

takes place after "nor".



12. Taj Mahal is (a worth seeing 

monument) in Agra.

(a) a monument to see its worth

(b) a monument worth seeing

(c) one of worth seeing monuments

(d) No improvement

Answer: (2)

(b); 'a monument worth seeing' is the 

appropriate use.



13. I had (not only helped her by) 

giving hints but also with providing 

him links.

(a) helped not only to her by.

(b) helped her not only by

(c) not only helped her

(d) No improvement
Answer: (2)

(b); We need to write main verb "helped" 

and its object "her" after helping verb "had" 

and then "not only" and "but also" should 

be introduced.



14.We (has finished) our lunch half 

an hour ago.

(a) finished

(b) will have finished

(c) had finished

(d) No improvement!

Answer: (1)

(a); 'ago' is used with past 

indefinite tense thus

'finished' should be used instead 

of “had finished”



15. A small makeshift stage (was 

construct) with a red curtain for a 

backdrop.

(a) are constructed

(b) was constructed

(c) were constructed 

(d) No improvement

Answer: (2)

(b); "was constructed" is the correct 

choice.



IDIOMS & PHRASES (Q16 TO Q20)



16. For his alleged involvement in 

espionage, he is under a cloud 

these days

(a) experiencing cloudy weather 

(b) enjoying favourable lunch

(c) under suspicion

(d) under observation

ANS-

C



17. We have appealed to him again 

and again, there is no use flogging 

a dead horse now.

(a) repeating our request 

(b) making him see reason

(c) beating about the bush

(d) wasting time in useless effort

ANS- D



18. we shouldn't look down upon 

the wretched of the earth.

(a) sympathies with

(b) hate intensely

(c) be indifferent to

(d) regard with contempt

ANS- D



19. Because of his misbehavior, he is

bound to face the music.

(n) get finished

(b) get reprimanded

(c) feel sorry

(d) listen to the music

ANS- B



20. The working of the factory was 

disrupted on account of a token 

strike by the workers

(a) total strike

(b) carefully planned strike

(c) short strike held as a warning 

(d) sudden call of strike

ANS- C



REARRANGEMENT OF SENTENCES (Q21
TO Q25)



21. Rearrange the parts of the 

sentence in correct order.

It is for the government,

P-especially one with such a 

Q-significant majority, to have the 

R-intelligence and leadership to think 

long term

1) QRP

2) PQR

3) RPQ

4) QPR

Answer (2) PQR



22. Rearrange the parts of the 

sentence in correct order.

There is a deeper 

P-fissure here that goes

Q-from western theory

R-beyond explanations

1) PRQ

2) PQR

3) QPR

4) RPQ

Answer (1) PRQ



23. Rearrange the parts of the sentence 

in correct order:

At one level, 

P. the law in understanding 

Q. such cases of violence 

R. one senses the limits of

1) RQP

2) PQR

3) RPQ

4) QRP
Answer 3. (3) 

RPQ



24. Rearrange the parts of the 

sentence in correct order.

It is the right to 

P. who see us at our most vulnerable 

Q. the indiscretions of doctors 

R. privacy that protects us from

1) QRP

2) QPR

3) PRQ

4) RQP
Answer 4. (4) 

RQP



25. Rearrange the parts of the 

sentence in correct order.

It is a crisis which

P-unless policymakers 

Q-exercise some intelligence 

R-will get even worse

1) RPQ

2) RQP

3) PQR

4) QPR

Answer(1) RPQ


